Annexure-A

Details of HSFG Bolts (Gr.10.9) with & without CSK

Sl. No. Size Qty Unit

1 M20 x 50 HSFG Bolt 4830 Sets

2 M20 x 55 HSFG Bolt 42300 Sets

3 M20 x 60 HSFG Bolt 6400 Sets

4 M20 x 65 HSFG Bolt 2140 Sets
M20 x 70 HSFG Bolt

S (Taper Washer in place of Plain Washer) 170 Sets

6 M20 x 75 HSFG Bolt 1550 Sets

TOTAL HSFG BOLT (Gr.10.9) 58390 Sets

Sl. No. Size Qty Unit

1 M16 x 62 CSK HSFG Bolt 51780 Sets

2 M16 x 100 CSK HSFG Bolt 408 Sets

3 M22 x 80 CSK HSFG Bolt 408 Sets

4 M22 x 110 CSK HSFG Bolt 816 Sets

5 M22 x 130 CSK HSFG Bolt 216 Sets

TOTAL CSK HSFG BOLT (Gr.10.9) 53628 Sets




MADE BY - R. BOSE

THE BRAITHWAITE BURN & JESSOP CONSTRUCTION CO. LTD.
( A Govt. of India Enterprise )

HSFG BOLT ORDER LIST FOR SITE

CHECKED BY- S. MAJUMDER

SHEET NO.- HSFG/2154/SS/01
BBJ'S DRG.NO.-

DATE - 24.04.23 ORDER NO.- 2154
PROJECT: REV.- DATE:-
24x76.2 M. SPAN TRUSS GIRDER PROPOSED RAIL BRIDGE OVER RIVER '
GANGA BETWEEN JHUSI AND DARAGANG STATION AT ALLAHABAD (U.P.)
Nos. per
1000 |Gross Net. | Bolt . . Thread Nut T Weight
pieces In| No. Spare No. | Head Dia Through Grip Length Length Head Position of Work (Kgs.) Remarks
Kgs.
HSFG BOLTS FOR WALKWAY, GANGWAY & TROLLEY REFUGE FOR 24 x 76.2 M SPAN
S _:I_s?_.____ ] _ | (NN (SRR (S e A (A . PR
DN S __9 s | HEX_ - _22_ | (. e o _55 = .__E.s_ — H_E_X“ EACH HSFG HEX. HD. BOLT CONSIST OF ONE
3110 HEX.| 22 50 95 |HEX.| DTIWASHER, ONE CHAMFERED WASHER,
— S i S E— e R R ~—| ONE TAPER WASHER & ONE HEX. HD. NUT.
o _2_140 - o _m. = it _ _ N ST pE—— _ e -
S o . _HE{( 23 s . 60 .70 HE)_( EACH HSFG HEX. HD. BOLT CONSIST OF ONE
3200 HEX.| 22 50 - 980 HEX.| DTIWASHER, ONE CHAMFERED WASHER,
——— —t—1—t+— —— | |1 ONEPLAIN WASHER & ONE HEX. HD. NUT.
TOTAL=|10000 HAN =
e | [wex| 2| | a0 | s x|
e 42..30_0. = HE)_(; ._:‘E_ S S 45 = _‘.5.5__ t' EX EACH HSFG HEX. HD. BOLT CONSIST OF ONE
6400 HEX.| 20 50 60 HEX.| DTIWASHER, ONE CHAMFERED WASHER,
= ~— = — ONE PLAIN WASHER & ONE HEX. HD. NUT.
2140 HEX.| 20 55 65 HEX
11060 HEX.| 20 46 70 HEX. ) o
ARSI 11 70 _ HEX. | 20 . I e - h46_ - 70 HEX EACH HSFG HEX. HD. BOLT CONSIST OF ONE
1550 HEX.| 20 46 75 |HEX.| DTIWASHER, ONE CHAMFERED WASHER,
o ey ~ e —— — ONE TAPER WASHER & ONE HEX. HD. NUT.
TOTAL=| 69450 B - - S| [ e e s
NOTE:-

1. ALL HSFG BOLTS ARE CL-10.9 & NUTS ARE 10 (AS PER RDSO.DRG.NO. B-1 1760/R1) CONFORMING TO [S:4000 (1992) & EN 14399-3.

2. ALL DTIWASHER AS PER EN 14399-9 & PLAIN WASHERS AS PER EN 14399-5 & TAPER WASHER AS PER IS: 5372 & 5374.

3. EACH HSFG HEX. HD. BOLT CONSIST OF ONE DTI WASHER, ONE CHAMFERED WASHER, ONE PLAIN/TAPER WASHER
(As Required) & ONE HEX. HD. NUT.

4. ALL BOLTS, NUTS & WASHERS MUST HAVE IDENTIFICATION MARK & MANUFACTURER'S SYMBOL & PROPERTY CLASS.

5. ALL BOLTS, NUTS & WASHERS MUST HAVE MANUFACTURER'S TEST CERTIFICATE IN ADDITION THREE SETS OF RANDOM
SAMPLE CONSISTING OF 1 NO. HEX. HD. BOLT+HEX. HD. NUT+CHAMFERED WASHER+PLAIN WASHER/TAPER FROM EACH LOT
TO BE SENT TO REPUTED INDEPENDENT NABL ACCREDITED LABORATORY.

6. SURFACE FINISH OF ALL BOLTS, NUTS & WASHERS WITH ZINC FLAKE COATING AS PER ISO 10683 SHOULD BE DONE.

7. BOLT LENGTH WITH RESPECT TO GRIP & OTHER ALL DIMENSIONAL DETAILS TO BE VERIFIED BY THE PARTY PRIOR TO
APPROVAL OF MANUFACTURING.

Req No:-

D/2351

Date:

24.04.2023




£Z0Z'¥0'¥T - AV | 1ggz/a - ON ‘No "L—-1¥vd 66SYL:NIId SV 38
. . : ——| TUM ¥3HSYM NIVId % SLON ‘SL108 NO ONDINVA '8 b
A By ~ams 13k ySlz -'ON WMo Ed £8901:0S| ¥3d SV SHIVI4 ONIZ HUM QIVOD F=E=MIIA V=V-MJIA
TO-NS—7S1Z  —oN1PDE TH8 | o 38 TIVHS SYIHSYM NV SLIN # SL108 TIV *L )
— . ‘NOLLQ3 1S3LY1 OZGL:SI ® S—66E¥LiNI : ol S
INIOF 01 1V 22'0V'T) MIGNNMN'S) A9 Gio3HO G—66€F1:N3 OL ONINYOANOD ¥IHSYM NIVid ‘9 =¥ 1
S1708 *M'S'D 40 S1vi3ad 2z0obZl|3s08 H ‘A8 NMWQ . L ._.m__. el ”
—— |5z —qwos| £ ONV £-6ecyiiNg O oz_zmm.._.”_rwmn_ m”n Mm.miw_ s % " 0 5
(*d'n) avavHvTIV Lv NOILYLS ONVOVHVQ ONV ISNHM N3Imiid ¥ AT T G = o o N e 4= I
YONYO N3AW ¥3A0 300148 WY (3S040Nd ¥3GNID SSAML NVAS ‘W Z'9LX4T :103r0Nd U3 Y138 TIW..L108. 40 HISNE @3l % 7, S ~
6°0L 3AVN9 L % £—66EYLN3 \
QILINTT WVDIN SVIIA TIVd UNINO | NV 9—'A3M LLi:SE OL ONIWNOANOD 1108 "94SH €
IVa ; “4IHSYM NIVId "ON L ONV LNN - N
AVAT NIILSVd HLIAON NGO ¥INMO | +x3y ‘ON | 40 LSISNOD L1108 ‘SO "94SH HOV3 'Z . R > NL__ [

(3ORIGUILNG VIONI 40 °LAOD V) W Y FeviSNosaNT Tyt At

VLVITOM ‘Q3LINIT ANVAINOD
NOLLONYLSNOD dOSS3r 8 NuNG JLIVMHLIVYEE 3HL

9¢=dIyd
(39vdS HIIM) D1 0pIXgIA 108 NS0 SON 807 = "N
9.=dI¥9 - z ﬁ A
Sy £ c >
7 A\l 0 H “ J s
G, L Al . ] 1 N ST )
2kl [T\ . s e i [® | \ & o [*
e G e B S — T B 5 2 —— |
4 . 3 B AN,
e 1 ) 8 - : T 22—
bt [ bt | Her
5 T AT B3 €02 V6l 53 W 7 m
L0} 6%l
BE 29 i %
00 1 =HLON31 , 7 ol _._._..0 Z_.u._ g 0
(39vdS HIIW) 51 OFIXZZA SI108 'S0 SON 918 (Jvas HIlM) "0 Oi*ecN LI0E H'S'0 3ON 3ke
5Z=a5 ¥ \4 LOI=dI4o
5 7 N a 7 N !|I.L4
1380 i inni] 4%
tee | L 1] | bRl Bl Erg——H———t— e S
W [ ® 2 T L -
s o \ J s o _,
® [k - 4 e @ f s §
: j \_\l_\ _m.l«_v_ <Wek J M . p i \i {W% XM
golm ¥6L ey m.v\w.J ey T 761 o7 m..w\wTd 9 4
0s 09 9g VL
0} L=HLONI 0¢ 1=HLONI




¢ZoZ'v0'¥Z — 3va 1G€Z/Q — ON ‘NO3Y

0 ‘A3Y ¥V —3ZIS 133HS $G12Z —'ON ¥3QNo ‘ra'a
ZO—=MS—¥GIZ —ON HOL3NS 'rE's ‘A8 03A0¥ddY
390438 AITIONL B AVMONYO ‘AVMHLYd | SCYOLIMIANNTA'S| A8 Q3403HO
ONIXI4 ¥O4 S1108 “M¥'S'D 40 SWVLIA | £z0'ZL] HIESHY| g Nwwa
D INVN | LiL—FIVOS

(*d’'n) QvAVHYTIV 1V NOILYLS ONVOVYVQ ONV ISNHF N3ImL3d
YONYD ¥IAIN ¥3A0 3901NE TIV¥ 03SOJ0¥d ¥3QNI9 SSNNL NVAS N Z'9/X¥T :LO3r0¥d

TILINIT WVOIN SVMIA TIVYd

JIN3ND

AVMTIVE NYHLSVd HLION

N3O Y3INMO

(30RIAYALNA VIONI 40 "LAOD V) et O

VLVXTON ‘G3LINIT ANVAINOD
NOLLONYLSNOD dOSS3r ? NuNng ALIVMHLIVYE 3HL

[

SAONIOV _NOLLNJ3X3

‘L=1lYV¥d 66¢¥|'NIY¥3d SV 38

TUM H3IHSYM NIVid % SLNN ‘SL1108 NO ONDRYYW '8
£8901:0SI ¥3d SV SIVId ONIZ HLIM (31V0D
38 TIvHS SY3IHSYM ONV SINN % S1708 TWV 'L

‘BNS| ¥0d4 vL£5°SI ONY
OWSI HO4 ZLES'SI OL ONINYOINOD H3IHSYM ¥3dvl "9
0l 30v9

L ANV £€—66E¥1:N3 OL ONINYOANOD LNN "94SH 'S
‘L=1¥Yd B66£Y N3

Y¥3d SY 38 TIM 1108 4O HLON31 aVIHHL ‘¥
60l 3aVMO L % £—66C¥LINI

ONY 9—"A3Y L11:S8 OL ONIWYO4NOD 1108 "D4SH '€
‘HIHSYM NIVId 'ON | ANV LINN

X3H "ON | 40 ISISNOD 1708 "MSJ "Q4SH HOV3 'Z

‘W NI 3¥Y SNOISNINIa TV "L

=HII0N

"SON 0G9ZC (39VdS SON 9CI+F7CSLZZ)=AVMONVD 9§04 1108 %SO 30 ¥38ANN 1VIOL

SON 0919 (39vdS SON 9L+¥¥19)=39N434 AJITI0NL 504 L108 SO JO ¥38ANN TVIOL

\!( :
s

"SON OZIE (JUVdS SON FI+9SIE)=AVMONVD ¥04 1108 XSO JO d3aANN 1VIOL

2! F =
062 ONWSI 3sn ¥o4
]! oFT 79 T"ZZ=d10
] T E—
57T & 157
)

7 N \ B
= N /I L |
B r4 / \ i
e 5 [ \ |
T T 1 1S S A S-S
& 1l hed 1
5B /

s [ S ! !
N - N q \_]
'S i

T
STET S01
8¢ ¥Z

44
4

CI=HIONTT

0S¢ @nWsSI 3sn 904
57 ¢9X9IW L[108 N'S2
1’61 gL WA €0C=did9
[, 1 gl
1'¥19°¢ s
)
\ k
-Lﬂ A
- \ / L
o Zz / \
o S \ /
N e > = lid
N > le .. = = = [ = = - —
tn n.7‘.... m ﬁ e ~
= B \ J
s ¥ L |
— m = \ / m _/ul
X /
||..ﬂ
g
SZEl GL'0l
8¢ e
Z9=HIONI1




